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o W F I A A UgH T AT T & & sruepr @t ok quf wor o= fRAr v &,
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Before answering the questions, ensure that you have been supplied the correct
and complete question paper, no claim in this regard, will be entertained after
examination.

General Instructions:
Tt fAeT:

Read the following instructions very carefully and strictly follow them.

(i) Question paper comprises six sections A, B, C, D, E and F. There are 40 questions in
the questions paper. All questions are compulsory.

(ii) Section A-Question no 1 to 20 are Objective questions ( 1 to 20 -multiple choice )
carrying 1 mark each.

(iii) Section B-Question no 21 to 28 are very short questions, carrying 2 marks each.
(iv) Section C- Question no 29 to 32 are case study questions carrying 3 marks each.

(v) Section D- Questions no 33 to 36 are short answer type questions, carrying 3 marks
each.

(VD) Section-E Questions no. 37 to 39 are long answer type questions, carrying 5 marks
each. Answers to each question should not exceed 120 words.

(vi)Section F- Questions no 40 is map based, carrying 5 marks. Part A is from history
(2marks) and part B is from geography (3 marks).

(vii) There is no overall choice in the question paper. However, an internal choice has
been provided in few questions. Only one of the choices in such questions has to be
attempted.

(viii) Attach map along with your answer book.

(ix) In addition to this, separate instructions are given with each section and question,
wherever necessary.

Section-A (1x20)
Tick the Correct answer

Bl 3 X e aRsy



Q.1 The fortified town of Dholavira is located in which state? 1

A)Haryana C) Punjab

B) Gujrat D) Rajasthan
I R M U A E o A = B L I i

A) gfmm C) ST

B) Ts2Td D) TS
Q.2 Gayatri Mantra is one of the Mantras of this Ved ............. 1
A) Rigved C) Samved

B) Yajurved D) Atharvaved
T W R AT WA T w0

Ay C) AT
B)T(4% INEPEEL

Q3 The Turks were a barbaricraceof. ... ...........................

1
A) Sindh C) None of these
B) Arab D) Central Asia
[ T TEF FAT AT ofF |
A) g C) T & FE TE
B) 3%d D) HeT TUiAT
Q.4 Those Farmers who had the ownership rights of Land were............... 1
A) Khudkasht C) Mujariyan
B) Pahikasht D) Raiyati

F o = 9 S &1 qferswmET qfgswe oo, 0 L.
ECIGE

A) FEHT C) gerTiaT



B) afgsed D) F=rta

Q.5 Article 370 has been abolished in Jammu and Kashmir by the Indian Parliament on

A) October 29,2019 C) October 31,2019 1
B) October 31,2021 D) October 29,2021

AT §HE FIT 9] FHIT & T 370 & dgd war @9 a7 #71

551 S T FAET wT o o

A)¥I<Ea 29,2019 C) pa¥ 31,2019

B) R 31,2021 D) ¥HaT 29,2021

In each of the questions given below , there are two statements marked as Assertion (A)
and Reason (R). Mark your answer as per the codes.

o fow o, wouE o WA wue U T § | U A0 e qwEE (a) @)
TAC H FRO (B) Fgl AT g | Woied & & =49 § & A7 9=l § |

Q.6 Assertion (A) In the nineteenth century, favourable conditions existed for the
expansion of Imperialism.

Reason (R)There was increase in large scale production , shortage of raw material and
new markets were needed to sell the goods . 1

A) Both A and R are true and R is the correct explanation of A .
B)A is true but R is false.

C)A is false but R is true.

D) Both A and R are false .

ATTFAT (A) IAEAl IqTeal § AHSIARE & (Geqe & ©T aqga arertaar
ERLIGERIN

FROT (B ) a9 UHT 9T IUTGH BIH oV , IITad d84 & Fg HIA il FHHAT
AT T AT T FEE A SE & fow 9T GfeAl it sraeTwar g o |

A)A TR AT 77 T i R,A #T TEr AT T




B) AT g #TR Td 2 |
C) ATAd g At R¥ET |
D) AT RIMI Tod & |

Q.7Assertion(A) The history of Colonisation reveals that rich resources in colonies were
the main attractions for the foreign invaders .

Reason (R) The availability of resources is a necessary condition for the development of
any region.
1

A) Both A and R are true and R is the correct explanation of A .

B) Both A and R are true and R is not the correct explanation of A .
C) A s false but R is true.

D) Both A and R are false.

ATYFHRAT (A) ITAALT FT I(Agrd gH Farar g T IaHaen # d9rdad 9v99« Ja9T
faeeft smrmor & orw g srmwdor w8 |

FROT (B ) TRl o & e & orw "@ergel it IUSsgar UE AEedE Od g
|

A)A TR THET 7T T #iX R, A #7 T =AE=AT T
B). AT R T T § #¥ R,A FT #LT =ATRAT AL T |

C) AT g At R¥EN |

D) AT RIM! T & |

Q.8 The historical Sher Shah Suri Marg connects.........ccceeureeenes 1
A) Delhi and Jaipur C)Delhi and Kanpur
B)Delhi and Amritsar D) None of these

UTARTTE® GTATE TN AT STTEAT B e e eie e e e ie et ie e ie e eieeeans
AfeT dw SR C) et sfin Fee



B)fawel 3T sryaaw D)zAH & ®T ARl

Q.9 Which one of the following is an example of Basic Industry ? 1
A) Iron and Steel industry C) Jute Industry
B) Paper Industry D)AIl of these

e & & &9 |7 g 9 SURM FT 3@ & ?

A) gl QTJT ESSELISERS IR C) geaq =T
B) FWS ST D) Suir<h @t
Q.10 Which Ethnic community is in Majority in Sri lanka ? 1
A) Tamils C) Sinhalese
B) Muslims D) None of these
e § FE JdE qEE & AN agae® g ?
A) e afie C) féerer
B) qfEew D) =¥ & FE T
Q.11Panchayats are a form of .............. Government . 1
A) Central C) none of these
B) State D) Local
R IR IS B E LI R 1 U ) Y gl
A) ¥ C) TH & FE T
B) TsT D) T
Q.12 In India, seats are Reserved for women in.........cccceeuneeee 1
A) Lok Sabha C) Cabinets
B) State Legislative Assembly D) Panchayati Raj Bodies
WEE H, WA F PR OAE ¥ a2
A) FF AT C) iz

B) 5T faeme ar D) GATAACST aeT



Q.13 Who among the following is the founder of Bahujan Samaj Party ? 1

A) Kanshi Ram C) B.R. Ambedkar
B) Sahu Maharaj D) Jotiba Phule

g TATST qIE F HEATTR A A ?

A) Fieft T\ O Ff 97 FF=H

B) ATg HEIS D) Strfaar et

Q.14 Democracy is preferred over Dictatorship everywhere except.............. 1

A) Bangladesh C) Sri lanka

B) India D) Pakistan

.................. T BIEHL gL g AHAT A ATl & FAC AT
T |

A) TR C) =T

B) Wrid D) e

Q.15 Accountability to the citizens is the most basic outcome of ................. 1

A) Dictatorship C) Democracy

B) Autocracy D) None of these

ANRE  F T TATTRRT crrnerenssensenes T GIE gAATar a2 o

A) qTATLTEN C) AT&a =

B) fA<spear D)= ¥ FE gl

Q.16 Development of a country can generally be determined by ......... 1
A) Its Per capita Income C) Its Average Literacy Level

B) Health status of its people D) All of the above

ATATAT: T 297 &1 arrds e o srae ox Mgt BT ST oa&ar g
A)afa =afe e C) | &reRar &<

B) AT 7 w=reey fRyfa D) 3Uah g«

Q.17 The Services of Teachers, Doctors are included in ............. Sector.

1



A) Primary C) Tertiary

B) Secondary D) Both A and B
HLATH |, Tihed T T JATATEIT &F . .ovvnnnn .. g7 ¥ giEatod gl
A) wrafiE C) g
IMECIRET D) A ST B FMT
Q.18 Formal Sectors of Credit includes ................. 1
A) Banks and Cooperatives C) Traders and Employers
B) Both A and C D) None of These
O SOETE FET A @il d 8 ... ... ...
A) 9% 3T gEwr afwfaEr C) ATYTEY TIH AT
B)A T C 3T D)TH q AL A
Q.19Globalisation has led to improvement in living conditions of ............ 1
A) Of all the People C) Of workers in the Developing Countries
B) Of People in the Developed Countries D) none of these
TR AL Siaq &&¢ & qg¥ § dgFar g4 § |
2)FHT I F c) fawmasfier 2em F =fw=r &
B) A& 39m & RN & D) TAH ¥ T A&l
Q.20National Consumers’ Day is celebrated on................. 1
A) June 5 C) December 5
B) December 24 D) June 21
TET IoARRT AT fRa|. .. F FAAT  STCT B
A) 557 C) 5 feEFx
B) 24 fegTax D) 21 S

Section- B



(Very Short Answer Questions) (2x8=16)

Q.21 Why is Rome called the ‘city of seven hills’? 2
T FT AT TRMHZAT FT T FAT FgT JEaT1 g 2

Q.22 What were the Crusades? 2
FHE FT I ?

Q.23 Write two demerits of Multipurpose River Projects . 2
Fggeea TE TR F A qE o |

Q.24. Define ‘Slash and Burn’ Agriculture. 2
FAT T@A TUMTAT I qRATOT FL |

Q.25 What is Federalism ? 2
THaTE AT g2

Q.26 What do you mean by Feminist Movements? 2
ATETET AR § 3T FT J9sd g |

Q.27 Define Disguised Unemployment . 2

=g AR F47 2 |

Q.28 Write two uses of Information and technology in production. 2

3cTEd #  gEAT TR & & 3uAnr  ferfeEn

Section- C
(Case Study Based Questions) (4x3=12)

Q.29 Read the Extract given below and answer the questions
that follow:



Mahmud Ghaznavi attacked the temple of Somnath to disturb the
sanctity of the temple and plunder its wealth. It took him
three days to capture the temple of Somnath due to heavy
resistance from the Hindus .Many Hindus who were protesting
were killed by Mahmud Ghaznavi. Thereafter, Mahmud ransacked
the temple and broke the idol of Lord Somnath with a mace.

Answer these questions

Q029.1 Mahmud Ghaznvi attacked India ....... times.
1

029 .2What was the reason behind Ghazni's attack on Somnath
temple? 1

Q29.3 The idol of which deity was destroyed by Ghazni ?
1

0.29 fRU U &g & &AW H UT X 39T T |

HEHE ToEar F TH AT &7 9fasdar 6 FwT T g9 & Fqed F o FEAarT &
AfeT o amRAa fRar S| Rger & A gfadry F R qEArT F AT %

Fig w3 § i o 0 | 7Eqg Tedl g 9fdde # W odas RBgew &t
AT FT & AT | T HeqE 7 HiGY &l @1 qAT W qearT & g
F AT F T H qre f@3T |

Fefafea =0 F 597 2

Q29.1 HEHE TSl T AT Tt e e e ieennnnnnn T AT T |

Q29.2 WgHE TSl & AT UL SHAT & FAT HIT o7 2

Q29.3 WEHZ TS\4l T fh| IFar & {9 &1 drer 11w

Q.30 Read the following paragraph and answer the questions

India is a tropical country .It has enormous possibilities of
tapping solar energy. Photovoltaic Technology converts
Sunlight directly into electricity .Solar energy is fast
becoming popular in rural and remote areas. Some big Solar
power plants are being established in different parts of India
which will minimize the dependence of rural household on
firewood and dung cakes.



Answer these questions:

Q030.1 Solar Energy is @ ... source of energy.
1

(Renewable /Non
Renewable)

(choose correct
answer)

Q30.2 Which Technology converts Sunlight into Electricity °?
1

Q30.3 Does Solar Energy causes Pollution? (Yes/NO)
1

0.30 fRU U &g # &4 ¥ UF A¥ W<

ARd UH I FKicaeiT 397 8| TI I I % algd i JHH FAEATT g |
wIeEeed TN g7 g & g @eq § aidfaa &ar Smar § | 9ea &
T TAT 3L &A1 § HIX IS sl F ARGT 21 Wl § [T a8 AT 31 997
39T F ATy anm # wfuq B ST T g | UHET SueT g Odr HiT IAT 4 TANT
q AT w3 § 39Sl qUT qhst 9¥ [A€war & gEaw AT ST ogwdr §

Fefafea =0 F w2 T

030 . 1T ST TF oottt e e e e e e e e e e e e SEIEaID I
AT FTAT FT AT 2| Q30.2(FH WRNReERr gy oo &1 #@1e fFem #
gfafda fBFam STar g2

Q30.3FT HIT Tl YT FAT g2 ( dF / FAA)

Q.31 Read the Extract given below and answer the questions
that follow :

Over a hundred countries of the world today claim and practice
some kind of democratic politics: they have formal

constitutions, they hold elections, they have parties and they
guarantee rights of citizens .while these features are common



to most of them, these democracies are very much different
from each other in terms of their social situations ,their
economic achievements and their cultures.

Answer these questions:

Q031.1Which form of government exists in India?

(1)

031.2 Write two features of Democracy as mentioned in the
paragraph? (2)

U U g T oA UF @Y 3T T |

A AT & &7 39 Rt T fRET avg AT Arhareas SmaelT Fo . w1 IET S
g | TAET SUETE AEdE g, A% Tgf A1 Bid g T qeiHaE g off g

||TT & T AYT ANTET &l Fg JAATEr AR Al TSN ad g |AhaT & T
qa 1 Afererter Ten H I1HE g UT OIHISG FAfy , AUl oMY IUfedr ¥

AT HERAAT &k HIES § T I TH AL H FHT AAT AAT 2|

Q31.1 9 H o WX &7 om8q =HaedaT § 2
Q31.2 «Ha Fr I FAwUard Fqmy |

Q.32 Read the Extract given below and answer the questions
that follow:

Thus the SHGs help borrowers overcome the problem of lack of
collateral. They can get timely loans for a variety of
purposes and at a reasonable interest rates. Moreover, SHGs
are the building blocks of organization of the rural poor.

Answer these questions:

032.1 What is the full form of SHGs?
1

032.2 In a SHG most of the decisions regarding savings and
loan activities are taken by
1

A) Bank
B) Members

C) Nongovernment organization



Q032 .3Which financial service is provided by SHGs in rural
areas? 1

U U 99 #T oW ¥ Ug W} 39 % |

Q32.39 T8 T@d HEIdl HHg Fall &l RO %I FHI Fl FHT F IJqRA |
3T Fd ¢ | St 9RAAR Bf9s Y& & sEegwl & o uw 3ta s &
U ED 0T AT § | T AMNRSh T g UTH ST F TGl A OGS

FLA § HIT FLd 8 |
fafefea o= & 39 §
Q032.1 SHGs &1 fa=™ F¥|

032.2 T HEAAT g § F9q ¥ O F¥&ErIq AfFwar For. ...
forg Std |

A) 9% g
B) HTEAT T
C) fIT T H§¥IT T

Q32.3 T HFEAT A¥g FNT AHI &= § & o Ffizgsar s&= @it J|r g2

Section-D
(Short Answer Type Questions) ( 4x3=12)
Q.33 (a) Define Imperialism. 1

(b)Write two disastrous effects of Imperialism. 2

argTsgaTe 7 g F 2

qTsIaTe & &l Ay g o

Q.34 Difference between Public Sector Industries and Cooperative sector Industries 3

qrESTE® &8 Ud  GERRy OF F SN H AT TI¥ &L |

Q.35 State three functions performed by a Political Party in a Democracy . 3

TSR g q19 w1d ford |

Q.36What is the difference between consumer protection council and consumer court? 3



STATTHT STATAT T SUAIRRT #¥eA  IRug # 3 T & |

Section- E
(Essay Type Questions) (5x4=20)

Q.37 a) Discuss the reasons for the decline of the Saraswati_Sindhu Civilization. (5)

aeEady fOeg AY9qr F Ua9 4k w6 g § fAEw ¥ 9=l w7 |

Or

b) Briefly explain the Vedic Literature . 5
afew arieer &t "@fer =TT w14

Q.38 a) Describe how communities have conserved and protected forests and wildlife in
India? )

AT ¥ @AY et 9 B9 99 a4 Sy a9 S @ ST W’ OgREE f&Ar

g? e @Es fAe=ar &9

Or

b) What is Soil Erosion? What steps can be taken to control soil erosion ?

T AI¥ET FAT g ? HaT  AULEd i UFATH & o FT FH IS AT ?

(1+4)

Q.39 a) Give features of India as a Secular State . 5
ORT T UF g¥Eeaey o7 F ®9 H  F9warg aqrw |
Or

b) What are the different Forms of Power sharing in modern Democracies? Give an
example of each of these. 5

g ARl A1 H gar & AaEEnr & Gt =7 o= g o2
AW H TAE FT UFH IQ(@L0 & |




SECTION-F
(MAP SKILL BASED QUESTION)(2+3=5)
Q.40 A. On the given outline map of World show the following places:
g ¥ R 1o waET g ) R =t i
a. England
T
b. Russia

wq

Q.40B. On the given outline map of India show the following places:
AT & Ru T sR@ET AT 8 [ st a o

a. Sugarcane producing state of India

HILd T THAT IcdTaeh Sy

b. Jharia coal mine

AT FIAT 8T

c. Software Technology Park in Assam

IO H OiFEaIL THIAST qaTh



